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(a)

1
Area = 5x3><[10+14+4(13+15)+2(16)]

=1x[24+112+32]
=168 m?

Units not required.

« Correct solution.
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‘ (b) ‘ 8.92 Correct solution.
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(b)

2.6

Correct solution.
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(b)

Correct solution.
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(b)

6.8

Correct solution.
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(b)

32

Correct solution.
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(b)

82 m’

Correct solution
(units not
required).
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(b)

7.8

Correct
solution.
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(®)

025
Area :T[o.3+1.1+ 2(0.7+1.65+1.9+235+1.7)]

1
=—x18
8

=225

Correct solution.
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(@)

Correct solution.
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2
_[ F(x)dx = %x0.2(1.41+2.24
1

+2(1.56+1.72+1.89+2.06))
=181

Correct answer.
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